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C/C++ a9 : /8 PoD

£ 4-1 MOYNY) MNAN MONYA 4 TINN 72D MUNY 2 by mayb vy

(193 20) 1 4901 NYNY

DN DNOY 090N SIZE=100 S¥ Ty Noonn oddArray npvnn 2mso v

NPIPNAN AR DONY NN DPONNN IPYNNRN DTN AR DIVID W (MNP 7) (N
s HINAN

15 ©arN 93 NN Oy — (default construcor) Y 1n nPIaN @
SIZE 57102 7Twn 0ops Dapnno N e
.01 (index) OIPINA TIY MOV NIVANRDN TPSPNY @

TONS TIVNN NN NN NOATHN TPIPNS @

MINPND YN PN 1T 9P¥0a
ooy SIZE S1oa 7ivn vHPo Yapnn Mvn NN AR vond v (MMp) 10) (2

ONT-INRD OV TY 2 2 MR PONN N ,ONT TN AYND PSPNAN TWND .DpDNnd
1 2281 NPNON ,0 NI 190NN DN

= TINID P8P NNOINN DTN NN DWW W (MNP 3) O

main()
{
int a[SIZE] = {4, 14, 15, 16};
oddArray b(a);
b.print();
return O ;
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(5193 20) 2 9901 NINY

DIV NMHNYN NN Str.int NON DONYHD ON 1, ] .C NAYA NN SYOPN 190N THAD

SapNNN VYA NX NI PN DIWIY W 1oND DIPYONN TNR 992 .(P9D1n T1INI) char*
N3 NDVAD NYIN TN PYD Y22 PrIv ¥ 1D NI YoPn DYva

ININ YOPN DY 0TV D (MNP 7) (N
strepy(str, “ABCD”);
*(++str)="\0’;
--Str;
cout<<str<<endl,;
INID YOPN DO 0T DR (MNPI é) (2
=2
for(i=5; 1<100; i=1*2 + 1){
cout<<i%j<<’ *;
J=i;
}
cout<<endl;
NN YOPN OPOA DT M (MNP 7)Y (O
strepy(str, “ABCD”);
i=str[3]-str[1];

cout << (str+1) << end];
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D190 D900 NV (10N 1IN TIYH ¥ DX true PIND PYPNaN (MNP 6) (N
false ynn nnx, 10 2 pHnnn omoow

STyn2a 10 2 ©PONNNN DMIAND DIV NX PINNY NIIPN9 (M™P) 6) (2

9900 DMPINNY DYDY 99010 ¥ DNMSYY DMJ0NN YD AN DTN v (MTP) 8) (O
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T s ndmirm A s ot d



2007 2>aX TVIN
90729 1900 ONY

(MNP 20) 4 499N HINY
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class SortedArray{
int *arr;
mt s;
void sort();

public: |
SortedArray(int *array, int size);
void print()const;
void DeleteDoubles();

¥

void SortedArray ::print() const {
for (int 1=0; 1<s; ++1)

cout<<arr{1]<<” ¢

cout<<endl;

}

void main(){
int arr[]={-7, 4, -1,2,2,3,4,9 };
SortedArray a(arr,8);
a.print(); ‘
a.DeleteDoubles();
a.print();

Y951 NX TN I Npnnn DeleteDoubles mo8pnan nx wnond ¥ (MTp) 10) (N
STAYNN ST NN JOTYY 99D DIUN L(T252 NNR DY INY> 1N DOV D)

DMIND TIAYN NIANIY TPIPNON ORN 1PIND TIWHNY TIYN 19NN Nna (MM 5) (2
11900 PPN TIVNHN TYRI MPINT

ITPIDINND VTN MM (MTPIS5) O
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VHDL :/3 p5h
{10-5 MIUNY) MNAN MINYN 6 TINn MURY 3 Dy nnyd v

(MNP 20) 5 9901 NINY

_ : IN2N TPIIND NN

D207 GIXD NN TPIINNN INPNY TININD AN VP PN W (MTP) 10) (N
19192 DXYIN DY PPN NI .DWWIND DIINNN

NN Generate NP Y L TPDIMIPNI NN AMVPYVIIIR 1(INDD v (MNp) 10)
DFF -5 mp 2155 MOx 199 D 2100 29357 59 mvp ming v 000010 ndys
NP0 DIPHNL DINVPNT YHNYND IMN TR DINRYHN MNY DNMINI YHNYAY NN
T2

library ieee; use ieee.STD_LOGIC_1164.all;
library ieee; use ieee.STD_LOGIC_ARITH.all;
library ieee; use ieee.STD LOGIC UNSIGNED.all;

entity test5A Process is
generic(size: integer:=3);
port (d,clk,rst: in std_logic;
g: out std logic vector(size-1 downto 0));
end;
architecture to_hardware of test5A Process 1is
signal d0,d1,d2: std logic;
signal g0,ql,qg2: std_logic;
begin
process (rst,clk)
begin
if rst='1' then
q0<='0"'; ql<='1l"; q2<='1";
elsif rising edge(clk) then
gq0<=d0; qgl<=d4dl; g2<=d2;
end if;
end process;
do<= d XOR q2;
dl<= d0 XOR go0;
d2<= dl1 XOR ql;

g<= g2 & g1 & gO0; —--!nanima 17 NMiw "wunn"? T1Y 1R

end;

NYANNHN YY NPYUNSD NNYI VDI J9IND N99DN NN DIYID NI 11T HORY Yy N9y
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(M3 20) 6 9991 NNV
Anput = 1000 : 3y ©9¥ON Y2 TWNI ,NIRIAN NOINNN NN
-5 om>a div_by V59N SV DN MY DX XY 0N PNY MINDIVN NN OOVURY W
INMYNIN YYD NN NYAIN 19D I8P DI INNIY NNNY 1IN .count
library ieee;
use ieee.STD_LOGIC_1164.all;
use leee.STD_LOGIC_ARITH.all;
use leee.STD_LOGIC_UNSIGNED.all;
entity div 1is
generic (size: NATURAL:= 4);
port (clk: in BIT; rst: in BIT;
input: in std _logic_vector(size-1 downto 0);
div_by: out std logic); )

end div;
architecture div of div is

signal count: std_logic_vector(size-1 downto 0);
begin

process (rst, clk)

begin
if rst = '1l' then
count<=(others=>'0") ;
div_by<='1";
elsif clk'event and clk = 'l' then
if count = input - 1 then
count<=(otherg=>'0") ;
div_by<='0"';
else _
if count > SHR(input,"01")-1 then
div_by<='0"';
else
div_by<='1";
end if;
count<=count+1;
end if;
end if;

end process;
end;
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S 197y DIV Y NIYINHNI 1Y PIXY WY NONY IND YD NN My (MNP 10) (N
: DP9 NN NN 98D 0N count -Y o2 div_by

count div_by
0

SN U [ (U2 (9 |-

NNVYN DX DNV NNIPHNAY ,IPIDINT DVITIND NNIYH IR DHYHD (MMpy 10) (3
: N2
if count > conv_integer (input)/2 then

1OMMPYY 2D NNYY RTND YT ,0°9502 13 NNV THNYS DIV XODIN

NN 8D o count -> ©M2 div_by Hw 15y 0w Y NNANKI NYTN MDAV N W
: D20 MM

count div_by
0

NN R (W -

YN

I NN NYNINI NIDND MIANXNN NN NP SHR mxpnan .1

-5 MVPNN NVIINDI NIDND MANNNN NP NOPP conv_integer NsPNON .2
Adnteger »on MY 2-2 PN woRvne amn WD integer
IMIDWHY NY N NYPA,D2230T2 9271V 7N DN INNRD R NONRYA DWWV N2IN .3
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(1923 20) 7 2901 NHNY
N7 MMIVIDNON NI NN resetN NoNIN I 02NN MM (MNP 10) (R
: TN HY D2ANAN NHHNOT PNY .dout NP X8I, TN

din

resetN zero din

rise

din

din

DMYIDTN NN IR TR TONN .DXIONN MW MYNNNA D7 DXIANNT NNIN NN INND W
NPONY) MNNN DY TAPIN NIIWHNT IR IR qON POIM (State Registers)
ANNONT NPINIDY RAN 28T NPYD

Enumerated Data ) DWINa Y910 MDD NN DXIANNN MNY NN IO W
21 XON PN (MNIVPVIIIRD MW TIPN IN NN (Type
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MONS NPY woww 0,00 (Entity) pewnnn nr oownd v (Mmmp) 10) (A
D00 1IOINN NN DHYPW INNPSY 2599 NPNY TIN OV TIPN .DOA8NN
DIVAIY MON IR ,NPIIPN MTIPI N/ DIPHNN DY NNVPVIIIN 1IN VI : NOVTN
H{TTIPI ITIV) Assert NTIPO vHNYnD 7ON DNYDI DXOIN

, D201 23NN 52 AN PTI2 NANOY NPYN TS PNy v
entity test7B 1is
port (clk, resetN, din: OUT std logic;
dout: IN std logic);
end;

(M1 20) 8 9991n hdHNY
AT 10N PANDY NN RIIPO N)

YW V9N 120N Y DINTNDY,NVIY I FPINN NN (DX0AUNA 2 TY) PI0N2 ¥ (MTPI ) (N
SJNNID NP MWD INIANY , MINDNT 2

LIBRARY IEEE;
USE IEEE.STD LOGIC 1164.ALL;
USE IEEE.STD LOGIC ARITH.ALL;
USE IEEE.STD LOGIC UNSIGNED.ALL;
ENTITY test8B_process IS
generic(n: integer:= 4);
PORT (inp: IN STD_LOGIC_vector(n-1 downto 0);
otp: OUT integer range 0 to 2**n -1);
END;

ARCHITECTURE arc OF test8B process IS
BEGIN
process (inp)
variable var, temp: integer;
begin
var:= 0; temp:= 1;
for i in 0 to inp'length -1 loop

if inp(i)= '1' then
var:= var + temp;
end if;
temp:= 2*temp;
end loop:;

otp<= var;
end process;
end;

13 770 10 Ty
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YNINY N9IYO MR PPT2 ¥8anY package body TiN2 NMTHNG 1IN W (MNP 5) (2
1PNY TP WNRWND X .25 POINN

library ieee; :

use ieee.STD LOGIC 1164.all;

use ieee.STD_LOGIC_ARITH.all;

use ieee.STD_LOGIC_UNSIGNED.all;

package pack8 1is
procedure vec2int (Signal vec: in std_logic_vector;
Signal int: out integer);
end;
package body pack8 is

end;

TN WHONYOW 1O TN D¥Y NMVPYDING NN MY v,y (M 10) O
DTHHMR PYT AWM, TI2YN 191D MIDNNNY NPINRD TOY NIANOY
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LIBRARY IEEE;

USE IEEE.STD LOGIC_1164.ALL;

USE IEEE.STD_LOGIC_ARITH.ALL;

USE IEEE.STD LOGIC_UNSIGNED.ALL;

ENTITY test09A_ What IS

PORT (clk, rst, inp: IN STD_LOGIC;
otp: OUT std_logic);

END; :

ARCHITECTURE arc OF test09A What IS
SIGNAL a, b: std logic;

BEGIN
otp<= a WHEN inp='1l' ELSE
b;
process (clk, rst)
begin
if rst= '1l' then
a<= '0'; b= '1%;
elsif rising edge(clk) then
b<= a; a<=inp;
end if;
end process;
end;

Y TPIDIND ANV IDIND AN PN w (MNP) 10) (2
LIBRARY IEEE;
USE IEEE.STD LOGIC_1164.ALL;
USE IEEE.STD LOGIC_ARITH.ALL;
USE IEEE.STD LOGIC_UNSIGNED.ALL;
ENTITY testO09B_What IS
PORT (clk, inpl, inp2: IN STD_LOGIC;
otp: OUT std logic);
END;
ARCHITECTURE arc OF test0SB_What IS
SIGNAL a, b: std_logic;
BEGIN
process (clk)
begin
if rising edge(clk) then
a<= inp2; otp<= b;
end if;
end process;
b<= inpl WHEN inp2= '0' ELSE
aj
end;
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(M1 20) 10 9991 NINY

.DNYYD DXVIPN 20N TP 1IN NOX 1N THRYA

,(Clocked Process) 7NN N 12170 PONN P12 Do00 TP 2005 v (M) 10) (N
' : NN DOVINN DX INNNT

inp —=— D Q— =—0 —p>
R / - “4 D Q=——p ==
— 1
rst - I g R
sig2 sig3 ]
otp

-
- D @

sig1

Wy on sigl, sig2, otp -1 ,R=Reset, S=Set D>wINIY DNIOTI :NIYN NYN
99¥ MINY 17 10MWINN YV DMINY0T YNNI N2IN 22900 RN NN s1g3 , 0093571
DM sigl INXINY MDY DN s1g2 ININY A5HDTH D) DI inp MNUNN .bit NoN MMND

Anp NN 22991 YV 1IN

NP Oy 411 239 PYY N0 N0ws mmn oY v (Mmmpy 10 (2
.Bit 2301 0915 mmxn qwxo , With. .. Select
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